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ENGLISH VERSION

Instruction : Marks are indicated on right side.

1 (a)

(b)

(b)

(b)

(b)

If A and B are any two sets then prove that
(1) (A4UB)'=A'NB'
@2 (4nB)'=4'UB'
If U={1,2,3....9}, A = {24,6,8}, B = (2,3,5,7} then
verify that (4UB)'=4'NnB'.
OR
Explain the following terms :
1) Null set
(1)) Sub set
(1) Power set
@1v) Union of sets
(v) Finite set
If U={x/xeN,x<10},4={1,2,3}, B={2, 4,6},
C ={0,-1,4} then verify that
AN(B-C)=(ANnB)—(4ANC).

Find the value of n 11 ”P3 =6 ”+2P3.
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How many different words can be formed by using 10

all the letters of the word SUNDAY ? How many of

them (1) begin with S (2) begin with S and end
with Y.
OR

If IOCnH : IOCn =7:4 then find n.

10

How many different committees can be made from a 10

group of 5 men and 6 women if a committee consists

at least 2 women.
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3 (a) Using the principle of mathematical induction 7

prove that 12422432+ +n? = n(n+1)(2n+1)

6
() Find the sum 122 + 132 + 142 + ... + 252, 8
OR
sy 4\12
3 (a) Find the fifth term in the expansion of (T+§) . 7
x 28
() Find the coefficient of x2 in the expansion of (5+;j . 8
4 (a) Explain meaning and wuses of interpolation and 7
extrapolation.
(b) Find missing values. 8
0|5 [10]15]20 (25
y (7111 |— (18— |32
OR
4 Obtain a form of F(x) using Langrage’s formula and 15

hence obtain F(10).
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